Test 22, Form B SHOW YOUR WORK Name: ){ e\
Give after Lesson 115 /

Read this information. Then answer questions 1 and 2.

Winnifred has a function machine that works in such a way that when she putsina 12, a 6 comes out.
When she puts in a 6, a 3 comes out, and when she puts in a 2, a Il comes out.

1. What rule does Winnifred’s machine use?

A. Itsubtracts9,  (B) Itdividesby2.  C. Ttdividesbyd.  D. Tt multiplies by 2.
2. If Winnifred puts in an 8, what number will come out? ™ L'*}
10 3. Lois has 40 iris and tulip bulbs in her flower bed. If 25 of the bulbs are tulips, what is the ratio of iris bulbs
o to tulip bulbs in her flower bed? § 7 i T I
. pe— x‘\(f\ ‘”"’é};;

4. The grasshdpper jumped 25 cm. Hov;;nqn‘j; millimeters is that? - Q)S U Mitn,

5. The length of segment AB is 3.7 cm. Segment BC is 2.2 cm long. The length of segment CD equals the
length of segment BC. Find the length of segment AD. o
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<J 6. (a) A pintiswhat fraction of a quart? &4 Li,«u‘cuﬂh% (L 4 nfo= 1 # \2rT)
(b) A quart is what fraction of a gallon? - jl ~ c‘k’{ \1 O\ ( . i v < \ o Ao )

" (¢) Use the answers from (a) and (b) above to defermine what fraction of a gallon a pint repfésents.
. . o ) - a1y
7. - Estimate the product of 496 and 351. = o QND/ 00O 1 j‘ﬁ ol \@Y‘\ '
8. Write this decimal number in simplest form: 0400.203000 .- ul; OO ) 20 3
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9. What is the reciprocal of % ?

10. Reduce 4-%. Lf%‘

1. 27 +033+104 - |3.43 12 1301 + 24 + 8011 = <23 M
13. 13459 - 036 = |3.0 99 1. 20 x 16¢ -(Jp 3, 20

15. 377 + 13 Q é/:’ . 16. 2703300 - | 2.7 v |
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